
www.teacherbilldavidson.com  *  bdavidson40@gmail.com  *  @billdavidsoniii 

G1-M4-Topic C 
 
G1-M4-L11:  To engage all learners in independent practice, a subset will be needed before Ss 
reach the problem set, e.g. 

• 4 + 1 = 
• 4 ones + 1 one = ____ ones 
• 4 tens + 1 ten = ____ tens 
• 40 + 10 = 

 
 
G1-M4-L12:  To engage all learners in independent practice, a subset will be needed before Ss 
reach the problem set, e.g. 

• 1 + 3 = 
• 10 + 30 = 
• 12 + 30 = 
• 1 + 1 = 
• 10 + 10 = 
• 15 + 10 = 

 


